Massachusetts Bay Transportation Authority

Report ID: CMS-BM-003 Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Contract K78CN04

Bidder: 5251

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name: SCR Constructors

				Er	ngineer	В	idder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.101	INTEGRATION SUPPORT FOR POSITIVE TRAIN CONTROL SYSTEM	AN	1	\$4,500,000.00	\$4,500,000.00	\$4,500,000.00	\$4,500,000.00	\$0.00	\$0.00
0120.263	ADAPTIVE MANAGEMENT	AN	1	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$0.00	\$0.00
0130.163	DISPUTE REVIEW BOARD	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0130.164	OFFICE FITOUT – CAMPANELLI DRIVE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.175	LAYOVER FACILITY	LS	1	\$17,397,251.00	\$17,397,251.00	\$18,000,000.00	\$18,000,000.00	\$602,749.00	\$602,749.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$7,400,000.00	\$7,400,000.00	\$7,400,000.00	\$7,400,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$0.00	\$0.00
0213.212	INTEGRATED PEST MANAGEMENT	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF QUALIFYING SOILS	AN	1	\$680,000.00	\$680,000.00	\$680,000.00	\$680,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Report ID: CMS-BM-003

Contract K78CN04

Bidder: 5251

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name:

SCR Constructors

				En	gineer	Bi	dder	Var	iance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0221.332	CONTAMINATED SOIL REUSE- IN-STATE LINED LANDFILL	AN	1	\$1,632,000.00	\$1,632,000.00	\$1,632,000.00	\$1,632,000.00	\$0.00	\$0.00
0221.333	CONTAMINATED SOIL RECYCLING- IN-STATE ASPHALT BATCH RECYCLING FACILITY	AN	1	\$153,000.00	\$153,000.00	\$153,000.00	\$153,000.00	\$0.00	\$0.00
0221.335	CONTAMINATED SOIL DISPOSAL - NON-RCRA OUT-OF-STATE LINED LANDFILL	AN	1	\$748,000.00	\$748,000.00	\$748,000.00	\$748,000.00	\$0.00	\$0.00
0221.336	CONTAMINATED SOIL DISPOSAL - RCRA LISTED OR CHARACTERISTIC HAZARDOUS WASTE	AN	1	\$6,120,000.00	\$6,120,000.00	\$6,120,000.00	\$6,120,000.00	\$0.00	\$0.00
0221.337	STABILIZATION/TREATMENT OF RCRA HAZARDOUS SOIL	AN	1	\$17,000.00	\$17,000.00	\$17,000.00	\$17,000.00	\$0.00	\$0.00
0221.367	ALL OTHER SOIL HANDLING AND DISPOSAL	AN	1	\$170,000.00	\$170,000.00	\$170,000.00	\$170,000.00	\$0.00	\$0.00
0222.027	MATERIAL REMOVAL	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0222.029	HANDLING AND TRANSPORT OF EXCESS EXCAVATED SOIL GENERATED BY OTHERS	CY	15,000	\$15.00	\$225,000.00	\$13.00	\$195,000.00	(\$2.00)	(\$30,000.00)
0222.108	ROCK EXCAVATION	CY	100	\$100.00	\$10,000.00	\$500.00	\$50,000.00	\$400.00	\$40,000.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Report ID: CMS-BM-003

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project

Contract K78CN04

Middleborough to New Bedford, MA

Bidder: 5251

Firm Name: SCR Constructors

				Ei	ngineer	E	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.119	UNSUITABLE EXCAVATION	CY	100	\$35.00	\$3,500.00	\$100.00	\$10,000.00	\$65.00	\$6,500.00
0222.398	REMOVE AND DISPOSE OF HAZARDOUS WASTE	AN	1	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$0.00	\$0.00
0222.440	TEST PITS	EA	100	\$900.00	\$90,000.00	\$1,400.00	\$140,000.00	\$500.00	\$50,000.00
0222.579	REMOVE AND DISPOSE OF CONTAMINATED GROUNDWATER	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0227.003	STABILIZATION FABRIC	SY	20,000	\$4.00	\$80,000.00	\$4.00	\$80,000.00	\$0.00	\$0.00
0250.006	OBSTRUCTION REMOVAL	HR	100	\$500.00	\$50,000.00	\$1,000.00	\$100,000.00	\$500.00	\$50,000.00
0282.202	EROSION CONTROL SYSTEM	LF	9,000	\$6.67	\$60,030.00	\$11.00	\$99,000.00	\$4.33	\$38,970.00
0290.000	RAILROAD WORK	LS	1	\$129,290,075.00	\$129,290,075.00 \$	S115,458,000.00	\$115,458,000.00	(\$13,832,075.00)	(\$13,832,075.00)
0291.410	INSTALL GUARD RAIL	LF	10,000	\$72.98	\$729,800.00	\$80.00	\$800,000.00	\$7.02	\$70,200.00

Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Contract K78CN04

SCR MS/NBML Commuter Rail Expansion Project

Bidder: 5251

Firm Name: Vhb-Hntb, A Joint Venture

Middleborough to New Bedford, MA

Firm Name: SCR Constructors

				E	ingineer	E	Bidder	Va	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0291.411	GUARD RAIL ON WOOD TIES	LF	5,000	\$20.56	\$102,800.00	\$65.00	\$325,000.00	\$44.44	\$222,200.00
1624.101	SPARE PARTS	AN	1	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$0.00	\$0.00
1650.003	SIGNAL & COMMUNICATION SYSTEM	LS	1	\$137,802,489.00	\$137,802,489.00	\$120,000,000.00	\$120,000,000.00	(\$17,802,489.00)	(\$17,802,489.00)
1685.021	EAST TAUNTON STATION	LS	1	\$24,925,202.00	\$24,925,202.00	\$31,000,000.00	\$31,000,000.00	\$6,074,798.00	\$6,074,798.00
1685.022	NEW BEDFORD STATION	LS	1	\$9,945,844.00	\$9,945,844.00	\$17,000,000.00	\$17,000,000.00	\$7,054,156.00	\$7,054,156.00
1685.023	MIDDLEBOROUGH STATION	LS	1	\$10,231,617.00	\$10,231,617.00	\$22,000,000.00	\$22,000,000.00	\$11,768,383.00	\$11,768,383.00
1685.058	CHURCH STREET STATION	LS	1	\$8,239,311.00	\$8,239,311.00	\$19,000,000.00	\$19,000,000.00	\$10,760,689.00	\$10,760,689.00
6500.000	RISK ALLOWANCE	RA	1	\$33,893,002.00	\$33,893,002.00	\$33,893,002.00	\$33,893,002.00	\$0.00	\$0.00
	Total Esti	mate Co	ontract Base	Bid:	\$398,395,921.00		\$403,470,002.00		\$5,074,081.00
	Contract Total - I	\$398,395,921.00		\$403,470,002.00		\$5,074,081.00			

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Report ID: CMS-BM-003

Contract K78CN04

Bidder: 5260

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name:

BHD/O&G South Coast Rail, JV

				En	gineer	В	idder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.101	INTEGRATION SUPPORT FOR POSITIVE TRAIN CONTROL SYSTEM	AN	1	\$4,500,000.00	\$4,500,000.00	\$4,500,000.00	\$4,500,000.00	\$0.00	\$0.00
0120.263	ADAPTIVE MANAGEMENT	AN	1	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$0.00	\$0.00
0130.163	DISPUTE REVIEW BOARD	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0130.164	OFFICE FITOUT – CAMPANELLI DRIVE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.175	LAYOVER FACILITY	LS	1	\$17,397,251.00	\$17,397,251.00	\$20,000,000.00	\$20,000,000.00	\$2,602,749.00	\$2,602,749.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$7,400,000.00	\$7,400,000.00	\$7,400,000.00	\$7,400,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$0.00	\$0.00
0213.212	INTEGRATED PEST MANAGEMENT	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF QUALIFYING SOILS	AN	1	\$680,000.00	\$680,000.00	\$680,000.00	\$680,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Report ID: CMS-BM-003

Firm Name: Vhb-Hntb, A Joint Venture

Contract K78CN04

SCR MS/NBML Commuter Rail Expansion Project

Middleborough to New Bedford, MA

Bidder: 5260

Firm Name: BHD/O&G South Coast Rail, JV

				En	gineer	Bi	dder	Var	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0221.332	CONTAMINATED SOIL REUSE- IN-STATE LINED LANDFILL	AN	1	\$1,632,000.00	\$1,632,000.00	\$1,632,000.00	\$1,632,000.00	\$0.00	\$0.00
0221.333	CONTAMINATED SOIL RECYCLING- IN-STATE ASPHALT BATCH RECYCLING FACILITY	AN	1	\$153,000.00	\$153,000.00	\$153,000.00	\$153,000.00	\$0.00	\$0.00
0221.335	CONTAMINATED SOIL DISPOSAL - NON-RCRA OUT-OF-STATE LINED LANDFILL	AN	1	\$748,000.00	\$748,000.00	\$748,000.00	\$748,000.00	\$0.00	\$0.00
0221.336	CONTAMINATED SOIL DISPOSAL - RCRA LISTED OR CHARACTERISTIC HAZARDOUS WASTE	AN	1	\$6,120,000.00	\$6,120,000.00	\$6,120,000.00	\$6,120,000.00	\$0.00	\$0.00
0221.337	STABILIZATION/TREATMENT OF RCRA HAZARDOUS SOIL	AN	1	\$17,000.00	\$17,000.00	\$17,000.00	\$17,000.00	\$0.00	\$0.00
0221.367	ALL OTHER SOIL HANDLING AND DISPOSAL	AN	1	\$170,000.00	\$170,000.00	\$170,000.00	\$170,000.00	\$0.00	\$0.00
0222.027	MATERIAL REMOVAL	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0222.029	HANDLING AND TRANSPORT OF EXCESS EXCAVATED SOIL GENERATED BY OTHERS	CY	15,000	\$15.00	\$225,000.00	\$50.00	\$750,000.00	\$35.00	\$525,000.00
0222.108	ROCK EXCAVATION	CY	100	\$100.00	\$10,000.00	\$500.00	\$50,000.00	\$400.00	\$40,000.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Report ID: CMS-BM-003

Contract K78CN04

Bidder: 5260

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name: BHD/O&G South Coast Rail, JV

				Ei	ngineer	E	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.119	UNSUITABLE EXCAVATION	CY	100	\$35.00	\$3,500.00	\$300.00	\$30,000.00	\$265.00	\$26,500.00
0222.398	REMOVE AND DISPOSE OF HAZARDOUS WASTE	AN	1	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$0.00	\$0.00
0222.440	TEST PITS	EA	100	\$900.00	\$90,000.00	\$500.00	\$50,000.00	(\$400.00)	(\$40,000.00)
0222.579	REMOVE AND DISPOSE OF CONTAMINATED GROUNDWATER	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0227.003	STABILIZATION FABRIC	SY	20,000	\$4.00	\$80,000.00	\$5.00	\$100,000.00	\$1.00	\$20,000.00
0250.006	OBSTRUCTION REMOVAL	HR	100	\$500.00	\$50,000.00	\$1,500.00	\$150,000.00	\$1,000.00	\$100,000.00
0282.202	EROSION CONTROL SYSTEM	LF	9,000	\$6.67	\$60,030.00	\$15.00	\$135,000.00	\$8.33	\$74,970.00
0290.000	RAILROAD WORK	LS	1	\$129,290,075.00	\$129,290,075.00 \$	153,894,998.00	\$153,894,998.00	\$24,604,923.00	\$24,604,923.00
0291.410	INSTALL GUARD RAIL	LF	10,000	\$72.98	\$729,800.00	\$58.00	\$580,000.00	(\$14.98)	(\$149,800.00)

Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

5260

Engineer: 4249

Contract K78CN04

Bidder:

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name:

BHD/O&G South Coast Rail, JV

				E	ingineer	ı	Bidder	V	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0291.411	GUARD RAIL ON WOOD TIES	LF	5,000	\$20.56	\$102,800.00	\$49.00	\$245,000.00	\$28.44	\$142,200.00
1624.101	SPARE PARTS	AN	1	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$0.00	\$0.00
1650.003	SIGNAL & COMMUNICATION SYSTEM	LS	1	\$137,802,489.00	\$137,802,489.00	\$125,000,000.00	\$125,000,000.00	(\$12,802,489.00)	(\$12,802,489.00)
1685.021	EAST TAUNTON STATION	LS	1	\$24,925,202.00	\$24,925,202.00	\$30,000,000.00	\$30,000,000.00	\$5,074,798.00	\$5,074,798.00
1685.022	NEW BEDFORD STATION	LS	1	\$9,945,844.00	\$9,945,844.00	\$12,000,000.00	\$12,000,000.00	\$2,054,156.00	\$2,054,156.00
1685.023	MIDDLEBOROUGH STATION	LS	1	\$10,231,617.00	\$10,231,617.00	\$14,000,000.00	\$14,000,000.00	\$3,768,383.00	\$3,768,383.00
1685.058	CHURCH STREET STATION	LS	1	\$8,239,311.00	\$8,239,311.00	\$10,000,000.00	\$10,000,000.00	\$1,760,689.00	\$1,760,689.00
6500.000	RISK ALLOWANCE	RA	1	\$33,893,002.00	\$33,893,002.00	\$33,893,002.00	\$33,893,002.00	\$0.00	\$0.00
	Total Esti	mate Co	ontract Base	Bid:	\$398,395,921.00		\$426,198,000.00		\$27,802,079.00
	Contract Total - I	Base Bio	d and Altern	ates:	\$398,395,921.00		\$426,198,000.00		\$27,802,079.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Contract K78CN04

Bidder: 5249

Firm Name: Vhb-Hntb, A Joint Venture

Report ID: CMS-BM-003

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name: Skanska DW White II JV

				En	gineer	В	idder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0120.101	INTEGRATION SUPPORT FOR POSITIVE TRAIN CONTROL SYSTEM	AN	1	\$4,500,000.00	\$4,500,000.00	\$4,500,000.00	\$4,500,000.00	\$0.00	\$0.00
0120.263	ADAPTIVE MANAGEMENT	AN	1	\$250,000.00	\$250,000.00	\$250,000.00	\$250,000.00	\$0.00	\$0.00
0130.163	DISPUTE REVIEW BOARD	AN	1	\$50,000.00	\$50,000.00	\$50,000.00	\$50,000.00	\$0.00	\$0.00
0130.164	OFFICE FITOUT – CAMPANELLI DRIVE	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0130.175	LAYOVER FACILITY	LS	1	\$17,397,251.00	\$17,397,251.00	\$40,000,000.00	\$40,000,000.00	\$22,602,749.00	\$22,602,749.00
0130.429	TRAFFIC OFFICERS SERVICES	AN	1	\$7,400,000.00	\$7,400,000.00	\$7,400,000.00	\$7,400,000.00	\$0.00	\$0.00
0211.495	SITE UTILITIES	AN	1	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$2,000,000.00	\$0.00	\$0.00
0213.212	INTEGRATED PEST MANAGEMENT	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0221.331	DISPOSE OF QUALIFYING SOILS	AN	1	\$680,000.00	\$680,000.00	\$680,000.00	\$680,000.00	\$0.00	\$0.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Contract K78CN04

Engineer: 4249

Firm Name: Vhb-Hntb, A Joint Venture

Report ID: CMS-BM-003

SCR MS/NBML Commuter Rail Expansion Project

Middleborough to New Bedford, MA

Bidder: 5249

Firm Name: Skanska DW White II JV

				En	gineer	Bi	dder	Variance	
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0221.332	CONTAMINATED SOIL REUSE- IN-STATE LINED LANDFILL	AN	1	\$1,632,000.00	\$1,632,000.00	\$1,632,000.00	\$1,632,000.00	\$0.00	\$0.00
0221.333	CONTAMINATED SOIL RECYCLING- IN-STATE ASPHALT BATCH RECYCLING FACILITY	AN	1	\$153,000.00	\$153,000.00	\$153,000.00	\$153,000.00	\$0.00	\$0.00
0221.335	CONTAMINATED SOIL DISPOSAL - NON-RCRA OUT-OF-STATE LINED LANDFILL	AN	1	\$748,000.00	\$748,000.00	\$748,000.00	\$748,000.00	\$0.00	\$0.00
0221.336	CONTAMINATED SOIL DISPOSAL - RCRA LISTED OR CHARACTERISTIC HAZARDOUS WASTE	AN	1	\$6,120,000.00	\$6,120,000.00	\$6,120,000.00	\$6,120,000.00	\$0.00	\$0.00
0221.337	STABILIZATION/TREATMENT OF RCRA HAZARDOUS SOIL	AN	1	\$17,000.00	\$17,000.00	\$17,000.00	\$17,000.00	\$0.00	\$0.00
0221.367	ALL OTHER SOIL HANDLING AND DISPOSAL	AN	1	\$170,000.00	\$170,000.00	\$170,000.00	\$170,000.00	\$0.00	\$0.00
0222.027	MATERIAL REMOVAL	AN	1	\$200,000.00	\$200,000.00	\$200,000.00	\$200,000.00	\$0.00	\$0.00
0222.029	HANDLING AND TRANSPORT OF EXCESS EXCAVATED SOIL GENERATED BY OTHERS	CY	15,000	\$15.00	\$225,000.00	\$35.00	\$525,000.00	\$20.00	\$300,000.00
0222.108	ROCK EXCAVATION	CY	100	\$100.00	\$10,000.00	\$525.00	\$52,500.00	\$425.00	\$42,500.00

Massachusetts Bay Transportation Authority Report ID: CMS-BM-003

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Firm Name: Vhb-Hntb, A Joint Venture

Contract K78CN04

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Bidder: 5249

Firm Name: Skanska DW White II JV

				Eı	ngineer	E	Bidder	Va	riance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0222.119	UNSUITABLE EXCAVATION	CY	100	\$35.00	\$3,500.00	\$250.00	\$25,000.00	\$215.00	\$21,500.00
0222.398	REMOVE AND DISPOSE OF HAZARDOUS WASTE	AN	1	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$0.00	\$0.00
0222.440	TEST PITS	EA	100	\$900.00	\$90,000.00	\$255.00	\$25,500.00	(\$645.00)	(\$64,500.00)
0222.579	REMOVE AND DISPOSE OF CONTAMINATED GROUNDWATER	AN	1	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$0.00	\$0.00
0227.003	STABILIZATION FABRIC	SY	20,000	\$4.00	\$80,000.00	\$5.00	\$100,000.00	\$1.00	\$20,000.00
0250.006	OBSTRUCTION REMOVAL	HR	100	\$500.00	\$50,000.00	\$3,500.00	\$350,000.00	\$3,000.00	\$300,000.00
0282.202	EROSION CONTROL SYSTEM	LF	9,000	\$6.67	\$60,030.00	\$15.00	\$135,000.00	\$8.33	\$74,970.00
0290.000	RAILROAD WORK	LS	1	\$129,290,075.00	\$129,290,075.00 \$	161,222,998.00	\$161,222,998.00	\$31,932,923.00	\$31,932,923.00
0291.410	INSTALL GUARD RAIL	LF	10,000	\$72.98	\$729,800.00	\$20.00	\$200,000.00	(\$52.98)	(\$529,800.00)

Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Contract K78CN04

Bidder: 5249

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project Middleborough to New Bedford, MA

Firm Name: Skanska DW White II JV

				E	ngineer		Bidder	V	ariance
Line Item	Description	Unit	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
0291.411	GUARD RAIL ON WOOD TIES	LF	5,000	\$20.56	\$102,800.00	\$20.00	\$100,000.00	(\$0.56)	(\$2,800.00)
1624.101	SPARE PARTS	AN	1	\$500,000.00	\$500,000.00	\$500,000.00	\$500,000.00	\$0.00	\$0.00
1650.003	SIGNAL & COMMUNICATION SYSTEM	LS	1	\$137,802,489.00	\$137,802,489.00	\$110,000,000.00	\$110,000,000.00	(\$27,802,489.00)	(\$27,802,489.00)
1685.021	EAST TAUNTON STATION	LS	1	\$24,925,202.00	\$24,925,202.00	\$35,000,000.00	\$35,000,000.00	\$10,074,798.00	\$10,074,798.00
1685.022	NEW BEDFORD STATION	LS	1	\$9,945,844.00	\$9,945,844.00	\$20,000,000.00	\$20,000,000.00	\$10,054,156.00	\$10,054,156.00
1685.023	MIDDLEBOROUGH STATION	LS	1	\$10,231,617.00	\$10,231,617.00	\$22,000,000.00	\$22,000,000.00	\$11,768,383.00	\$11,768,383.00
1685.058	CHURCH STREET STATION	LS	1	\$8,239,311.00	\$8,239,311.00	\$20,000,000.00	\$20,000,000.00	\$11,760,689.00	\$11,760,689.00
6500.000	RISK ALLOWANCE	RA	1	\$33,893,002.00	\$33,893,002.00	\$33,893,002.00	\$33,893,002.00	\$0.00	\$0.00
	Total Esti	mate Co	ontract Base	e Bid:	\$398,395,921.00		\$468,949,000.00		\$70,553,079.00
	Contract Total - I	Base Bi	d and Altern	ates:	\$398,395,921.00		\$468,949,000.00		\$70,553,079.00

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Contract K78CN04

Engineer: 4249

Firm Name: Vhb-Hntb, A Joint Venture

Report ID: CMS-BM-003

SCR MS/NBML Commuter Rail Expansion Project

Middleborough to New Bedford, MA

Bidder: 5249

Firm Name: Skanska DW White II JV

_	Engineer	Bidder	Variance
Total Type Basic =	\$398,395,921.00	\$468,949,000.00	(\$70,553,079.00)
Contract Total - Base Bid and Alternates:	\$398,395,921.00	\$468,949,000.00	(\$70,553,079.00)

Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Contract K78CN04

Bid Date: 08/13/2020

Engineer: 4249

Firm Name: Vhb-Hntb, A Joint Venture

SCR MS/NBML Commuter Rail Expansion Project

Middleborough to New Bedford, MA

Bidder: 5260

Firm Name: BHD/O&G South Coast Rail, JV

-	Engineer	Bidder	Variance
Total Type Basic =	\$398,395,921.00	\$426,198,000.00	(\$27,802,079.00)
Contract Total - Base Bid and Alternates:	\$398,395,921.00	\$426,198,000.00	(\$27,802,079.00)

Report ID: CMS-BM-003

Massachusetts Bay Transportation Authority

Capital Management System

Comparison of Bids

Bid Date: 08/13/2020

Engineer: 4249

Contract K78CN04

SCR MS/NBML Commuter Rail Expansion Project

Bidder: 5251

Firm Name: Vhb-Hntb, A Joint Venture

Middleborough to New Bedford, MA

Firm Name: SCR Constructors

	Engineer	Bidder	Variance
Total Type Basic =	\$398,395,921.00	\$403,470,002.00	(\$5,074,081.00)
Contract Total - Base Bid and Alternates:	\$398,395,921.00	\$403,470,002.00	(\$5,074,081.00)